A Fn24E
ATHRBREBER FEHE EKERMHR LE

At HOE

il

P24

Hawhr KT B



1. BlKEARRE T

(1-1)

2

=—N4% wmr KR+ Bt -1 = Bir| BE B
Bl K &
(& #)
HPPE & [0+ = 8K
B AKHAR Y 2 F LA ¢ 755000 K
HPPE )% 1.14+1.55 = 2K
975 ZN
HPPE Z.51%& 1.0+1.0 = OA
975 ZN
2 = 10K 10
ZN
HPPE 2 2
EFE s ~UR ¢ 75 X 45° 1
HPPE 1 1
EFE s ~UR ¢ 75X 22° 1
HPPE 1 1
EFE s~ UR 75X 11° 1
HPPE 1 1
EFfliszF—X d75X ¢ 75 1
HPPE 1 1
EFfliszF—X $ 75X ¢ 50 1
HPPE 1 1
FLOMTI Y ¢ 75 &
VP 1 1
RWAKEITTAE ¢ 100X 75 JIE]
1 1
B SRR v 7 A HiL
1 1
7T TR ¢ 75 7.5K RF i
1 1
PPAL X v ® 75 1A
Y774 —h 47.15 47.2
PR RS — W=150 m
47.15 47.2
BYRT—7 W=30 m
47.15 47.2
=74 A — FRT-174 m




1. BlKEARRE T (1-2)

% B i) ] =

= —N4 Bl ® B # =1 = BAr| KR | EE
fe Kk &
5B

EF 47.15 =47.15m 47.2

K)TFL AR T ¢ 75 m
2+2 = 40 4

KY=FL O T ¢ 75 =)
EF2Q 1+1 = 2H 2

FYIFLVEHETE T ¢ 75 =]
EF1H 8+2+2+1+1 = 144 14

FYIFL VR T ¢ 75 =]
1 1

A=V T ¢ 75 H
1 1

77y HEFE T ¢ 75 7.5K =]
VP 1 1

R RBIT T R E T ¢ 100X 75 {5 7T
1 1
Ry /AR BT 5

47.2 47.2

MR — Mgk T m
47.2 47.2

R — AR T m
47.2 47.2

By =T A ) A YA T m




1. FdkE LT (1—3)
% = 5 &
a—}p 4 i} AR NIRRT Hil B = fii &
2-8 HTIEAs
Bl K & i og 1+ T £EE 0175
AS 98.00 98.00 98
Fiil £ 7] W T 15emEh m
AS 27.00 27.00 27
2 B b gL T 10cmPh T m2
28.30 28.30 28
1 T $i Hil T BHO. 2m3 m3
Ry 10.20 10.20 10
b A ® T BHO. 2m3 m3
AT 8.35 8.35 8
K B b = T BHO. 2m3 m3
26.95 26.95 27
i J& % e T.| RC-40-0 25cm m2
26.95 26.95 27
+ & i i T M-25 10cm m2
26.95 26.95 27
* =l T| #BkiJ¥As 20F 4cm m2
+> BHO. 2m3 19.95 19.95 20
V54 + AL i} T 4t —2km m3
AsHlL BHO. 2m3 1.08 1.08 1
Y5 + AL b} T 2t —10km m3
1.08 1.08 1
A s ¥ HI BE Mo PO m3




1. FdkE LT (1—4)
% = 5 &
a—p £ i} K ST ik Hifr| K o iE %

47.0+2. 0 49. 0

2-8 HIIEASs ¢ 75 m
AS 2. 0%49. 0 98. 00

il b 4 W L 15cmEh F m
AS 0. 55%49. 0 27.00

- S S V. 10cmEh F m2
A ZLVE T E 1NN 0. 55%1. 05%49. 0 28. 30

B 1 Eii Hil L BHO. 2m3 m3
BHO. 2m3 (0. 55%0. 39-0. 090, 09*0. 785)*49. 0 10. 20

/% A 2 T Pra&R> m3
BHYEHIAH A 0. 55%0. 31%49. 0 8.35

B sk ] = T BHO. 2m3 m3
0. 55%49. 0 26. 95

N & % s T.] RC-40-0 25cm m2
0. 55%49. 0 26. 95

s )= # i T M-25 10cm m2
0. 55%49. 0 26. 95

* & T.| #kifEAs 20F 4cm m2
+> BHO. 2m3 28. 30-8. 35 19. 95

53 1 AL H T 4t —2km m3
As3lL BHO. 2m3 0. 55%0. 04%49. 0 1.08

53 1 AL H T 2t —10km m3
1. 08 1.08

A s i HI BE M O B % m3




KEARR T (2-1)
g B &t -1 =
4 wmr KR+ Bt -1 = Bir| BE B
oK E
(& #)
HPPE Z.51%& 3.23 = 1K

B IR =PV ¢ 50 N
H = 1K 1

i
HPPE 2 2

EFY/ b ¢ 50 |
HPPE 1 1

mLOMTI Y ¢ 50 &
HIVP 2.0 2.0

MR B A A b =V $ 25 m
HIVP 1 1

HI-TSY/ b ¢ 25 1
HIVP 2 2

HITS L7 ok 025 f
HIVP 1 1

HI-TS= /LR b 25 1"
HPPE 1 1

BRI AR ® 75X ¢ 25 1
YRR ER |1 1

nyafk T ¢ 25 1
1 1

L e AV A ® 25 A
1 1

1EK#BOX H
1 1

87 ¢ 50 e
1 1

kg ¢ 50 H
1 1

A—H—BOX N HL
2 2

77 T ¢ 50 7.5K RF i
5.80 5.8

=74 A — FRT-174 m
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(2-2)

% B i) ] =

4 wmr KR+ Bt -1 = Bir| BE B
oK E
(5 %)
EF 3.80 3.8
RYLFV B AR T ¢ 50 m
1 1
KY=FL O T ¢ 50 =)
EF20 2 2
FYIFLVEHETE T ¢ 50 =]
2 2
77 EE L ¢ 50 7.5K m)
HIVP 2.0 2.0
BEEARR T ¢ 25 m
1%2+2+1%2 = 6M 6
TSHtFET ¢ 25 H
2 2
BEELIN T ¢ 25 H
HPPE 1 1
BRIV AKARER E T ® 75X ¢ 25 (&5
e+ v A 1 1
IEKIRERE T ¢ 25 i
1 1
YRR E T (&0
HKgR R v A 1 1
E/KERERE L ¢ 50 (&0
5.8 5.8

0 =74 ) A Y—Higk T m




2. fkE LT (2—3)
% = 5 &
a—}p 4 i} AR NIRRT Hil B = fii &
B Rihie | D HIEAs
oK OB fog - T £EE AE7K AN
AS 5.00 5.00 5
i %% ] W T 15ecmPh T m
AS 1.38 1.38 1
B % B b EOL T 10cmPd F m2
1.09 1.18 2.27 2
1 T $i Hil T BHO. 2m3 m3
Ry 0.36 0.28 0.64 0.6
b A ® T BHO. 2m3 m3
AT 0.73 0.43 1.16 1
K B b = T BHO. 2m3 m3
1.38 1.38 1
i J& % e T.| RC-40-0 25cm m2
1.38 1.38 1
+ & i i T M-25 10cm m2
1.38 1.38 1
* =l T| #BkiJ¥As 20F 4cm m2
+> BHO. 2m3 0.36 0.75 1.11 1
V54 + AL i} T 4t —2km m3
AsHlL BHO. 2m3 0.06 0.06 0.1
Y5 + AL i} T 2 t —10km m3
0.06 0.06 0.1
A s ¥ HI BE Mo PO m3




2. fKkELT 2—4)
% E 5 &
a—p £ i} K ST ik Hifr| K o iE %
L= 33 m
B Rifig Fak
TEHIFEIA 0. 55%0. 60%3. 3 m® 1.09
- A A N - || M BHO.28m’
0. 55%0. 20%3. 3 m® 0.36
W A fs T PR
e+ 0. 55%0. 40%3. 3 m® 0.73
B o # K T BHO.28m’
BH0.28m3 _|-fib 1.09  — 0.73 . 0.36
7 + T 4t-2km
L= 25 m
D MT5EAs FaK
AS 2.5 * 2.0 5.00 m 5.00
fii 4 ] W T 15emEh
AS 055 * 25 1.38 2 1.38
B B v B L T 10cmEh
Ny )RR EIF A 0.55 % 0.86 % 2.5 1.18 _ 1.18
B L4 Eii Hi T BHO. 2m3
BHO. 2m3 055 % 0.2 % 925 0.28 . 0.28
[ A % T PR
B HI A A 0.55 % 0.3]1 * 25 0.43 _ 0.43
B L4 i = T BHO. 2m3
055 * 25 1.38 2 1.38
T & % i T.| RC-40-0 25cm
055 * 2.5 1.38 2 1.38
s = % ity T M-25  10cm
055 * 2.5 1.38 2 1.38
#* & T| #RIEAs 20F 4cm
+-#> BHO. 2m3 1.18 — 0.43 0.75 i 0.75
5% + L piii) T 4t —2km
AsHil BHO. 2m3 0.55 * 0.04 * 250 0.06 s 0.06
5% + L piii) T 2 t —10km
0.06 0.06 s 0.06
A s R HI BE M 4 o3 2




3. {HAKRERE L (3-1)
g = #t -1 +
——N|4 wmE KR S B Bt -1 = Bir| BE B
ok R
(& #)
HPPE & [0+ = 0
B AKHAR Y 2 F LA ¢ 755000 K
HPPE H )% 2.44 = 1K
975 i
TPPE Z.01% = 0k
975 i
i = 1K 1
i
HPPE 1 1
EFY/ b ¢ 75 1
HPPE 1 1
mLOMTI Y ¢ 75 &
1 1
BTl ke HO H
1 1
T T ¢ 75 7.5K RF 4
R —b W=150 m
3.00 3.0
BWHRT— W=30 m
3.00 3.0
a4/ AT — FRT-174 m




3. {HAKRERE L (3-2)
g B &t -1 =
——N|4 ®HE K S B &t -1 = HAT| BE | HE
W ok
(¥

EF 3.00 =3.00m 3.0

FYVTFL G AREE T ¢ 75 m
1 1

BYxFLE G T ¢ 75 |
EF2 [ 1 1

BYEFLEE T T ¢ 75 |
EF1M 1 1

YL EE T T ¢ 75 |
1 1

75 ET ¢ 75 7.5K ]
1 1

AR R E T B HO & T
3.0 3.0

PR — MR L m
3.0 3.0

B R TR L m
3.0 3.0

By =T A ) A YA T m




3. Hke LT (3—3)
% = 5 &
a—}p 4 i} AR NIRRT Hil B = fii &
2-8 MT1EAs| 1-8 HTIEG
Bl Kk & A g% + T EEE 75 675
AS 1.00 1.00 1
Fiil £ 7] W T 15emEh m
AS 0.30 0.30 0.3
B % B b EOL T 10cmPd F m2
0.29 1.50 1.79 2
1 T $i Hil T BHO. 2m3 m3
Ry 0.10 0.52 0.62 0.6
b A ® T BHO. 2m3 m3
AT 0.09 0.96 1.05 1
K B b = T BHO. 2m3 m3
0.28 0.28 0.3
i J& % e T.| RC-40-0 25cm m2
0.28 0.28 0.3
+ & i i T M-25 10cm m2
0.28 0.28 0.3
* =l T| #BkiJ¥As 20F 4cm m2
+> BHO. 2m3 0.20 0.54 0.74 0.7
V54 + AL i} T 4t —2km m3
AsHlL BHO. 2m3 0.01 0.01 0.1
Y5 + AL b} T 2t —10km m3
0.01 0.01 0.1
A s ¥ HI BE Mo PO m3




3. kLT (3—4)
% = 5 &
a—p £ i} K ST ik Hifr| K o iE %
0. 50 0.5
2-8 HIIEASs ¢ 75 m
AS 2. 0%0. 5 1.00
il b 4 W L 15cmEh F m
AS 0. 55%0. 5 0. 30
a4k Hy b BE I 10cmPA F m2
A ZLVE T E 1NN 0. 55%1. 05%0. 5 0. 29
B 1 Eii A L BHO. 2m3 m3
BHO. 2m3 (0. 55%0. 39-0. 090, 090, 785) *0. 5 0.10
b A % T (AR m3
BHYEHIAH A 0. 55%0. 310, 5 0.09
B sk ] = T BHO. 2m3 m3
0. 55%0. 5 0.28
N & % s T.] RC-40-0 25cm m2
0. 55%0. 5 0.28
s )= s i T M-25 10cm m2
0. 55%0. 5 0.28
* & T.| #kifEAs 20F 4cm m2
+> BHO. 2m3 0. 29-0. 09 0. 20
53 1 AL H T 4t —2km m3
As3fl BHO. 2m3 0. 55%0. 04%0. 5 0.01
53 1 AL H T 2t —10km m3
0.01 0.01
A it Hl FE B A % m3
2.5 2.5
1-8 WJ5EG ¢ 75 m
HIFEA 0.55 * 1.09 X 2.5 1.50 m® 1.50
B B O H T BHO.28m’
(0.55 % 0.39 - 009 %7/ 4) % 25 0.52 m® 0.52
w N # T IRty
A+ 0.55 * 0.70 * 2.5 0.96 m® 0.96
i ik Pl = T BH0.28m*
BHO0.28m3 b 1.50 — 0.96 0.54 m® 0.54
53 1 L B T 4t=2km




